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REM| Fa | Tl kR 78.50+58 23[57.013

REM| FA [Tl | kR 78.5k+136 78[s7.001 | 4 A

REM| FA [Tl |[ER 78.50+361 260]57.351 A B

REM| FA [Tl | ER 78.50+375 14]57.365 B

REH| FE | Tl | kR 78.50+446 71]57436 | 32 B B

EHM| FR | T8 | EF [zeumeisonn |79.00 112 57,548 33 A 405 B

REM| FA [Tl | ER 79.00+426 426 57,974 A B

REH| FE | Tl | kR 79.00+583 160 [58,134 | 34 B B

REM| FA [Tl |[ER 79.00+645 84 [58218 B

REM| FA [Tl | ER 79.00+735 62 |58,280

REW| FE | Tl | E2|BIIER 79.00+753 66 |58346

REM| FAE | Tl £2|Fih)iE @GR [79.50 156 |58.502 B B B B

EHm| B | Fal|E=E 80.00 518 [59,020 B B B B

REM| FA [Tl |[ER 80.50 411 [59.431 B |23t B |23t B |23t B

EHm| B | Fal|E=E 81.00 569 [60,000 B B B B

REH| FA | Fib)ll | 2 |EokeEs [81.00+233 233 [60,233 B B B B

REH| FA | Tl |2 |FEE 81.50 220 [60.453 B | 5, | B 230 B

Feith| FE | Tl | kR 81.50+70 65 60,518 B B B

Feifi| F& | T | EE 81.50+450 372 60,890 B | 233 B [233|] B [ 233 B

Fehmdi| FA | T | 22 |mElgkeEE |82.00 50 60,940 B [ oy Al Al [A

Feith| FE | Tl | kR 82.00+50 50 60,990 B A A

Feimi| FA | Feb)l | EF|Fehis 82.50 489 [61479 | 4o B [235] B [235] B [235] B

Feifi| F& | T | EE 82.50+145 145 61,624 B B B B

Felith| FA | Foh)I|| 2| Feh) b |82.50+450 308 61,932 B [236 B [236| B |23 B

Felith| FA | Foh)Il| 22| Feh) b |82.50+560 115 [62,047 B B B B

Febidi| FA | Fea)l [ ER|[EBHIIER |83.00 0 162,047 B

Fehmi| FA | el | x| =468 83.00+160 186 [62,233 B [237] A [237] A [237] A

Feifi| F& | T | EE 83.00+305 119 62,352 B | 238 B [ 238 B | 238 B

Fehidi| FA [ Fel|ER 83.50 281 [62,633 B

Fehidi| FA& [ Fel|ER 83.50+360 360 [62,993 B

Feith| FE | Tl | kR 84.00 282 [63,275 B 406 | B

Fehidi| FA [ Fel|ER 84.00+300 300 [63,575 B

Feith| FE | Tl | £2 | FHE 84.00+350 50 63,625 B B B B

Feith| FE | Tl | kR 84.50 175 63,800 B B B

Feith| FE | Tl | kR 85.00 503 64,303 B B B

Feimi| FA | Feal ([ ER 85.50 425 64,728 239 [ 239 4 239

Feith| FE | FebIl | kR 85.50+430 421 65,149 B B B

T | FA | Fob)l| ZE2(|HERIIER |85.50+430 50 |65,199 B B B

Fehim| FA& [ Fel|ER 86.00 124 [65,323

Fehidi| FA& [ Fel|ER 86.00+235 236 [65,559

Fehidi| FA [ Fel|ER 86.00+355 120 65,679

Fehim| FA& [ Fel|ER 86.00+455 100 [65,779

Fehidi| FA | Feb)l | EZ|BEE 86.00+475 20 |65,799

Fehidi| FA& [ Fel|ER 86.50 55 65,854

Fehidi| FA [ Fel|ER 87.00 539 |66,393 | 36 B

Fehim| FA& [ Fel|ER 87.50 517 |66,910

Feith| FE | FebIl | kR 87.50+420 326 [67,236 407 | B

Fehidi| FA [ Fel|ER 88.00 63 67,299

Fehim| FA& [ Fel|ER 88.50 446 |67,745

Fehidi| FA& [ Fel|ER 88.50+125 126 [67,871

Feith| FE | Tl | A5 | KEE 88.50+345 227 | 68,098

Fehidi| FA [ Fel|ER 89.00 153 |68,251

Fehidi| FA& [ Fel|ER 89.00+335 334 |68.585 | 37 B

Fehidi| FA& [ Fel|ER 89.50 181 68,766

Fehidi| FA [ Fel|ER 89.50+220 220 | 68,986

Fehim| FA& [ Fel|ER 89.50+254 34 [69.020 | o B

Feith| FE | Tl | k2| BEE 89.50+270 17 [69,037 B B B

Feith| FE | FebIl | kR 90.00 226 [69,263 B B

Fehidi| FA [ Fel|ER 90.00+555 552 [69.815| 39 B 240 [ B | 240 [ B

Feith| FE | Tl | kR 90.50 76 69,891 B B

Feith| FE | FebIl | kR 90.50+85 84 169,975 B B

Fehidi| FA [ Fel|ER 90.50+125 124 [70,099

Feith| FE | Tl | kR 90.50+193 68 70,167 408 | B

Feiith| FA | Tl 2| ZRINEFR  [90.50+345 41 (70,208

Fehidi| FA [ Fel|ER 91.00 456 [70,664

Feith| FE | Tl | kR 91.0+67 67 |70,731

Feith| FE | Tl | kR 91.00+110 43 [70,774 209 | B

Fehidi| FA& [ Fel|ER 91.50 300 [71,074

Fehidi| FA [ Fel|ER 91.50+280 281 [71,355

Feith| FE | Tl | £ |58 92.00 263 [71,618

Feith| FE | Tl | kR 92.00+55 55 171,673 410 | B

Fehidi| FA [ Fel|ER 92.00+145 92 71,765

Fehidi| FA& [ Fel|ER 92.00+205 61 |71,826 B

Fehdi| FA& [ Fel|ER 92.50 361 [72,187] 40 B

SRET| FA | e[ KR 92.50+120 120 [72,307 B

SRET| FA | FeI KR 92.50+220 139 [72.446

REET| FA | Feh)l | KR |SHER 92.50+220 0 |72,446

RRAT| FR | Tl | EE 93.00 198 72,644 B B

SRIBET| FAE | Feh)Il | A5 | BNE 93.00+75 75 | 712,719 B B

AT | BFA | Tl | EE 93.00+590 462 73,181 B B

IRRAT| FA | Tl | EE|SEHE 93.00+590 0 [73,181 B B

RIMET| FAE | T | AR SRIBAE 93.50 45 [73,226 B B

SRIBET| FE | FebIl | kR 94.00 363 [73,589 B B

SRIBET| FE | FebIl | kR 94.00+325 300 [73,889 B B

SRIBET| FE | FebIl | kR 94.50 135 [74,024 B B

SRIBET| FE | FebIl | kR 94.50+105 105 [74,129 B B

SRIBET| FAE | Tl | KR | K28 94.50+155 50 | 74,179 B B

SRIBET| FE | FebIl | kR 94.50+267 112 [74,291 B B

RRAT| FR | Tl | EE 95.00 199 [74,490 B B A

WA | FR | | EE 95.00+250 _|_250 [74,740 B 514 A

SRIBET| FE | FebIl | kR 95.00+627 377 [75.117 B B

WRET| mA | T | £ EaE 95.50-100 0 [75.117 L R

RIBET| FE | Tl | kR 95.50 100 [75.217 B B

RRAT| FA | Tl | EE 95.50+395 311 [75,528 B B

SRIBET| FAE | Tl | KR |SHE 95.50+445 0 |75,528 B B

RIBET| FE | Tl | kR 96.00 111 [75,639 B B B

RIBET| FE | Tl | kR 96.00+240 240 [715879 | B B B

AT FA | FeI[ER 96.50 323 [76.202 B B B B




SRIRET izl 96.50+65 65 76,267 B B |412[ B
SRIRAT el 96.50+310 245 76,512 B B
SRIRAT el 97.00 183 76,695 B B
SRIRAT el 97.00+275 275 76,970 B B
SRIRAT el BiE 97.00+405 130 [77.100 B B
SRIRAT Tl | & 97.50 95 [77,195 B B
SRIRET izl 97.50+249 245 [77,440 B B
LA izl 98.00 250 |77,690

LHEH izl 98.50 621 78,311

LA izl 99.00 606 |78.917

LHEH izl 99.50 524 [79.441

LHEH izl 99.50+463 463 79.904

L@AH izl HTNEFE 99.50+491 87 |79.991

LHEH izl 99.50+581 37 [80.028 | 42

LHEH izl 99.50+601 20 [80,048 | 43 B

LA izl 100.00 11 {80,059

LA izl 100.00+105 105 [80,164

LA izl 100.00+289 127 80,291 413
LHEH izl 100.00+305 73 [80,364

L@AH izl L EXE 100.50 140 80,504

LHEH Tl | £ 100.50+225 225 80,729

LA izl 100.50+360 135 80,864 414
LHEH izl 100.5+450 90 80,954

LA izl BAHEL 100.5+450 79 (81,033

LA izl 101.00 147 [81,180

LHEH izl 101.50 566 [81,746

LA izl 102.00 347 82,093

LHEH izl 102.00+95 95 |82,188

L@AH izl =Riini:] 102.00+355 267 [82.455

LA izl 102.50 158 82,613

LHEH izl 102.50+130 65 [82,678

LHEH izl 102.50+181 51 (82,729 415
LHEH izl 102.50+233 52 [82,781

LA izl BEHE 103.00-445 163 82,944

LA izl 103.00 431 |83375

LHEH izl 103.00+395 386 |83,761

LHEH izl 103.50 96 [83.857 B
TE B2 IEE 103.50+72 42 [838% 416
LHEH el FannigR g |103.50+4285 243 84,142

LA izl 104.00 189 84,331

LHEH izl 104.50 524 [84,855

LHEH izl 104.50+160 149 |85,004

L@AH izl HEFE 104.50+277 119 [85,123 | 44 B

LA izl 104.50+470 100 [85223 | A 417
LA izl 104.50+656 281 |85,504 A

LA izl BEHER 105.00-121 0 [85,504

LHEH izl 105.00 52 [85,556 B B
LHEH izl 105.00+50 50 [85.606 B B
LHEH izl 105.00+60 10 [85.616 B B [ 418
LHEH izl 105.00+80 20 [85.636 B B
LHEH el 105.00+150 70 [85,706 | 46 B B [ 419
LA izl 105.00+200 50 [85.756 B B
LHEH el 105.00+335 153 [85,909 | 47 242 B 242 B
LHEH izl 105.00+445 101 [86,010 B B B
LHEH izl 105.50 19 [86,029 B B B
LHEH izl NS 105.50+165 165 86,194 B B |40 B
LHEH izl 106.00 309 [86.503 B B B
LHEH izl 106.00+80 80 [86,583 B B B
LHEH izl 106.00+360 262 |86,845 B B
LHEH Tl | & F |mramrasn |106.50 230 [87,075

LHEH izl 107.00 500 [87,575

LHEH izl 107.50 499 88,074

LA izl 108.00 495 |88,569

LHEH izl 108.50-56 521 (89,090 421
LA izl 108.50 56 (89,146

LHEH izl 108.50+203 204 |89.350

i) Feh)ll| 22 |KE)IEFR [109.00 0 89,350

LHAH 2 | Fehil 2| KEE 109.50 179 [89,529

T - ES S 78.50+228 228 [58.985 B 264 264 B
Tl 2 | Tl | B |raumecsosn |78.50+415 135 [59.120 B B B
Fath S | TFeal E 79.00 65 59,185 B B B
Tl 2 | Fehil : 79.00+165 166 [59,351 B | 265 B 265 | B
Fath S | TFeal 2 |mrmnmz e |79.50 144 [59,495 B B B
Fath S | TFehl E 79.50+237 237 [59,732 B B B
Tl 2 | Fehil £ | 601148 (#5%) |79.50+250 13 [59,745 B

Fefim S | FemIl = 80.00 223 [59.968 | 78 B 433
Tl 2 | Fehil F 80.50 621 [60,589 B

Tl 2 | Fehil : 80.50+20 20 60,609 B

Tl 2 | Fehil : 80.50+331 353 60,962 B B B B
Tl 2 | Fehil F 81.00 80 [61,042 B B B B
Tl 2 | Fehil : 81.00+150 150 [61,192 B B B o
Tl 2 | Fehil F 81.50 384 [61,576 B B B B
Tl 2 | Fehil E | RiERE 81.50+25 25 61,601 B | 266 B | 266 B |266| B
Fath S | FemIl 3 81.50+200 175 [61,776 B B B | 435
Tl 2 | Fehil 2 81.50+440 231 [62,007 B B B
FRET MET e 82.00 60 [62,067 B B B
T 2 | Fehil 2 82.00+50 53 [62.120 B B B
Fath S | TFeal ® | Fahis 82.50 392 62,512 B B
Tl S | TFeal 2 83.00 398 [62910| o B B
Fath S | TFeal F 83.00+225 225 [63,135 B B
Tl 2 | Fehil E | EHER 83.50-83 399 63,534 | 80 267 | B | 267 B
Fath S | TFeal F 83.50 82 63,616 B B
Fath S | TFeal F 84.00 211 [63,827 B B
Fath S | TFeal o il 84.00+400 308 64,135 A B B
Tl S | TFeal 2 84.50 234 (64,369 | 81 A B B B
Tl 2 | Fehil F 85.00 486 |64.855 A B B B
FRET MET e 85.50 382 [65.237 B B B
T 2 | Fehil e 86.00 472 [65,709 W8 5 e X s
Tl S | TFehl F | HES 86.50 437 66,146 B B B
Tl S | TFehl 2 86.50+100 96 66,242 B B B
Fath S | TFehl E 87.00 390 | 66,632 B B
Tl S | TFehl 2 87.00+330 330 66,962 B B | 436
Tl 2 | Fehil F | KFafRith A6 |87.50 132 [67.094 209 5 209 5
Fath S | TFehl F | KB ANE |87.50+604 603 |67,697 B B
Tl S | Feal F | KFa#Rith 2 6 | 88.00 8 [67,705 B B




Feith| FA | Feh)ll| B2 | KTk E [88.50 601 | 68,306 B B B
Feith| FE | Tl | EE 88.50+15 15 68321 B B B =
Feith| FE | Tl | EE 88.50+215 200 [68,521 B B B =
Feith| FE | Tl | EE 88.50+310 95 68,616 B B B =
Fehidi| FA | Feb)l [ ER|KEE 88.50+375 90 [68.706 B B B B =
Feith| FE | Tl | EE 89.00 75 68,781 B B =
Feith| FE | FebIl|EE 89.00+100 115 68,896 B B

Feith| FE | Tl | EE 89.50 386 [69,282 B B

Feith| FE | Tl | EE 89.50+15 14 69,296 B B

Feith| FE | Tl |EE 89.50+275 260 [69,556 B B

Feith| FE | Tl | 62| BEE 89.50+385 110 69,666 B B

Feith| FE | Tl | EE 90.00 169 [69,835 B B

Feith| FE | FebIl|BEE 90.50 445 [70,280 B B

Feith| FE | Tl | EE 90.50+187 215 [70,495 B B

Fehidi| FA [ Fel|ER 91.00 185 [70,680

SRET| FA | FeI | ER 91.00+135 136 [70.816

SREET| FA | FeI | ER 91.00+325 185 [71,001

SREET| FA | eI ER 91.00+375 47 [71,048 B

SRET| FA | FeI | ER 91.50 240 [71,288
SRET| FA | e[ ER 91.50+190 185 [71.473
SREET| FA | FeI|ER 91.50+343 128 [71,601 B
REET| FA | eI [ ER|FE 92.00 131 [71,732 B
SRET| FA | FeI | EER 92.00+210 212 [71,944
SREET| FA | FeI|ER 92.00+340 122 [72,066
SRET| FA | FeI | ER 92.50 127 72,193 B
SRET| FA | FeI|ER 92.50+275 257 [72,450
SRET| FA | eI EER 93.00 273 |72.723 B B B
RMET| FA | Tl A= 93.00+95 95 | 72,818 B B
IRRAT | FA | Tl | B |RBE 93.00+125 30 [72,848 B B
RIBET| FE | Tl | B 93.00+455 267 [73.115 B B
RMET| FE | Tl | BE | SRBAE 93.50 102 [73217 B B
SRIBET| FE | Tl | B 94.00 722 73,939 B B
RIBET| FE | Tl | B 94.00+25 26 73,965 B B
RIBET| FA | Feh)Il | A2 | #HEZ)NE5 [94.00+4105 81 74,046 B B
RBET| FE | Tl | B 94.00+195 90 74,136 B B B
SRIBET| FAE | Tl | B5| K28 94.50 295 [74.431 B B
RIBET| FE | Tl | B 95.00 574 75,005 B B
RBET| FE | Tl | B 95.00+168 146 [75,151 B B
RIBET| FE | Tl | B 95.50 252 [75.403 B B B
RIBET| FE | Tl | B 96.00 461 [75,864 B B B
RIBET| FE | Tl B 96.50 463 [76,327 B B B
RBET| FE | Tl | B 97.00 458 [76,785 B B B
RIBET| FE | Tl | B 97.00+350 368 [77.153 B B B
RIBET| FE | T | B | B8 97.00+395 45 [77,198 A B A
RBET| FE | Tl | B 97.00+450 55 |77,253 A B A
SRIBET| FE | Tl | B 97.50 53 |77.306 B B B
RIBET| FE | Tl | B 97.50+312 312 [77.618 B B B
RIBET| FE | Tl | B 98.00 155 [77.773 B B B
SRIBET| FE | Tl | B 98.00+34 34 |77,807 B B B
AT | FA | e[ EER 98.00+80 44 |77.851 B B B B
LET| FA [ FI|EER 98.00+130 50 [77.901 B B B B
LET| FA [ FI|EER 98.50 348 [78,249 B B B
LET| FA [ FI|EER 99.00 437 | 78,686 B B B
LtHET| FE | Tl |EE 99.00+148 98 [78,784 B B B
L@ FA | F#Il|ER 99.00+225 172 [78.956 B
L@ FA | F#l|ER 99.50-260 33 [78.989 B B
L@ FA | F#l|ER 99.50-55 197 [79.186 B B B B
L@ FA | F#Il|ER 99.00+490 36 [79.222 B B B
LA FA | TG 99.50 5 B B
B

99.50+90 90 179,317

B

B

LB FA | TG B B

LtHET| FE | Tl |EE 99.75+92 150 [79.467 B B

LtHET| FE | Tl |EE 100.00 246 79,713 B B

LET| FA [ FI|EER 100.00+125 189 [79.902 B B

LHAd| FA | Tl |AE| EAXE 100.50 442 80,344 B B

LHAd| B | Fall|EE 100.50+415 415 80,759 B B
LET| FA [ FI|EER 100.50+490 75 80,834 B

LET| FA [ FI|EER 100.50+590 100 [80,934

LtHEM| FE | Tl | HE|SHE 101.00-191 0 80,934

LET| FA [ FI|EER 101.00 191 [81,125

LET| FA [ FI|EER 101.50 484 81,609

LET| FA [ FI|EER 101.50+260 260 [81,869

LtHEM| FAE | T8Il B2 | KHRIIEH|101.50+260 53 81,922

LET| FA [ FI|EER 102.00 306 [82.228

LET| FA [ FI|EER 102.50 483 [82,711

LET| FA [ FI|EER 103.00 543 83254

LtHET| FE | Tl |EE 103.00+400 400 83,654

L@ FA | F#l|ER 103.50 61 [83715 B

LET| FA [ FI|EER 103.50+235 235 [83,950 B

LHAd| FRE | Tl HE|reumecme |103.504265 30 [83,980

LET| FA [ FI|EER 103.50+281m | 16 [83.996

LET| FA [ FI|EER 104.00 246 [84,242 =
LET| FA [ FI|EER 104.00+310 300 [84,542 =
L@ FA | F#l|ER 104.50 157 |84.699 B =
LET| FA | Tl | G2 |BAHE 104.50+235 234 84,933 B

LET| FA [ FI|EER 105.00 267 85,200

LET| FA [ FI|EER 105.50 526 |85,726

LET| FA [ FI|EER 105.50+350 350 [86,076

LBET| FA | Tl [ ER|/IEE 105.50+385 36 |86,112

LET| FA [ FI|EER 106.00 162 [86,274

J=3

LET| FE [ FHI|E 106.00+205 205 [86,479

LET| FE [ FHI|E 107.00+310m 6 87,539

LET| FA [ FI|EER 106.00+475 245 [86,724 B
LHAd| BFR | Tl HE|[mrmmeese |106.50 19 86,743
LET| FA [ FI|EER 106.50+415 415 [87.158 B
LET| FA [ FI|EER 107.00-18 69 87,227 B
LET| FA [ FI|EER 107.00-5 13 87,240 A
LET| FA [ FI|EER 107.00 5 [87.245 B
LET| FA [ FI|EER 107.00+74 74 87319 B
LET| FA [ FI|EER 107.00+100 11 87,330 A
LtHET| FE | Tl |EE 107.00+300 203 [87,533 A
A
B

TE |

LET| FE [ FHI|E 107.00+327 19 87,558
LtHET| FE | Tl | B | @IIE5R 107.00+403 68 |87,626
LET| FA [T |EER 107.50 42 |87.668 A
LET| FA [T |EER 108.00 471 88,139
LET| FAE [ FH[ER 108.00+253 257 88,396




LtHEM| FAE | Tl A2 |BRINEHR [108.00+253 95 | 88,491
LET| FA [ FI|EER 108.50 274 |88.765 B
LET| FA [ FI|EER 108.50+305 304 [89,069 B
LtHEM| FE | FoIl| 6| XEE 109.00 146 [89.215 A
LET| FAE [T |ER 109.00+338 336 [89,551 A
LtET| F& [ F#I|EE 109.50 119 [89,670




